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12. Parking In the parking lot shown,
the lines that mark the width of each
space are parallel.

m/1 = (2x— 3y)°
ms2 = (x+ 3y)°
Find xand y.

X= (o0
3=10




Find each angle measure. Justify each e —
answer with a postulate or theorem. = 3 1 /z .
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Draw the given situation or tell why it is impossible.
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Two parallel lines are intersected by a transversal so that the corresponding angles < 3
are supplementary.
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Two parallel lines are intersected by a transversal so that the same-side interior ‘b
angles are <’>\omplemenlary.
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Land Development A piece of property
lies between two parallel streets as shown.
Z1=(2x+6)°, andms2 = (3x+ 9)°.

What is the relationship between
the angles? What are their measures?

Same side Int Ls \
wmait=T2°"° wmL2 =108




31. JI/ERROR ANALYSISA/ In the figure,

mZABC = (15x + 5)°, and mZBCD = (10x + 25)°.

Which value of mZ BCD is incorrect? Explain.

A B
PBx+5= 0x+25
S | -
Sx+5 = 25
-5 -5
5x - 20
x=4

mZBCD = 10{4) + 25 = 65°
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mZBCD = 10(6) + 25 = 85°



